BRVINFERPIFF I A RBRESY (2)
R ek
T o~ Rp
- KT ZE KT F THRFPRA)FE R F AL KT AR
£g, -
S BT IREERFNY B A T EMEF S o
AR
- " RIAKFEsFZH - B

D E R R BT B

= =7 %
P oAb 4 R ©

= ‘i"i?{ﬁﬂ; ‘%/rl’f m]iac‘—v’\:pz\‘i‘lf-‘gng °
Z R REFERF ?{%‘3% Foara o MR AT LR LR E R e
FRELIT

s AFEE 0 3 FRRT &

AR BT PR RS ST BT
FYAEB AL ZHE
TINP T
-~ AFF P R RS 2BIRET 0 G LR S
d3F L 540 £39100% o
g §J§ "7475"3’»“' B ASRBE S N JOEF LB 0 F g ARIEE F IR ER
BV RETIRIR & i &8 B vRAE o

e e A A B

MY P 113879230 (2 )77 250 () £3p 0 £3FI8 ) o

LAY R 281401 T 216400 -

P~ Y gL “EP’H’J/};?&J/‘};?E“Q“"

K~ FRARR B AP o

TN LG

- KEFFRAFEYER O RH w AR
%ibﬁbt:.ﬁa}:r‘/‘,gﬂﬂi 525&18 pé;-

=z iP”$@$34ﬁﬁﬂ%%£E—%$ £)> 3+ 11326 1 28
PRSI ) Bt 2RIRFF RRED R - FY 8

4336462 (http://inservice.edu.tw/index2-3.aspx ) » 4£B~> ;81U 4R &
L s 0 FEuR Ak o

PTEIRIAERE R 0 D



FECE IRl I IE I = AUE & I BRSO St S Ll
yzas

- Y ARET N REEY X kR RS
REOTREERIRE RBEEARE APV RIFF A RF

W
ra
™~
\:\
Jzn}-,
pan)

FERPASFRA > N7V REERIERLEE -
2 \ﬂkrﬂ’ﬂ& . Q'T%Jiﬁ’_i%ﬁ;}%;‘ﬁl’i&—*v?ja%i.?'i‘!«;}'ﬁnn,e.‘?%\hiﬁﬁg\lzi;é
MEFARERL > FWEEFRZ ) BERY F AR

2 bR e

FRL AP EIMFRT APEER N BLFTR



i1

BaPINREERP ST

Eﬂﬂﬁiyg‘h:

2T = &=

p Bt

1 RER $FY (2R
e L BERAY F()EERT{ra i 185 %))

P ¥ PR AP % AF[LHEA
08 : 40-08 : 50 |#F 5| » AFB~F A 114 R
2 08 : 50-09 : 00 |4>% ;¢ E BT RETF
5 [09700-10:30 BB AH#HKE () ¥ kg
- |10 :30-10 : 40 |k 1% 4R
3 |10:40-12: 10 |& B35 5 A#HF ivR_Y (Z) RO kR EF
23 |12:20-13:20 =% ~ =tk 14 R
Po|13:20-13:30|7 = & 5 1% 4R
T 13:30-15: 00 |AAF Y 2 1S (-) o4k R
= 1530015 10 ik & 1R
15:10-16: 40 | A#F 52 T FTRY (2) e gk g
16 : 40~  |[P-2pjE
P Ep 7 FAR F A FF/AHEA
08 : 50-09 : 00 |} = % 7| 1iTAf
09 : 00-10 : 30 o H® AL Ok e
3 Lm0z 2 FEIEfE
5 [ 10:30-10: 40 |k L 1A R
7 |10 :40-12 1 10 B4 RIS R (FRY R
3 112:10-13:20 | =% ~ = ik 1iF4 R
24 | 13:20-13:30 |7 = % 3 1 {FA R
P RN S
T 13:30-15: 00 LB HE 2.5 B FER A E
= 3.2 %W 4v@id
T 115:00-15: 10 |k 4 1iF4 R
15:10-16 : 40 |v 3Zpl2kg (TR Y FER A E
16 : 40~ |- priF




P gy =34 AP F ERECTER- XS
08 : 50-09 : 00 [+ = & TI 114 B
TRR=AEL
113 | 09 00-10 30 |LE& T 1% 203 B e N
= 3. F BT
- [10130-10 : 40 |k & 1 iF A R
g |10 :40-12 10 |2 BiplskF FRY = AR E
25 [12:10-13:20 =% ~ = ik 1fEA R
P 13:20-13:30|T = % 7| 14 R
; 135 3015 : 00 %.gg,;ﬁllf%_ﬁ‘§;4: -
135393 2.5 iR 3 3. £ 273 ’
= |15:00-15 1 10 |k & 14
151 10-16 : 40 |FE 3% PlokF (TR Y BEZaA T
16 - 40~ [B-# R GF




